P Poisson Distribution Imagine we have a Bernoulli dist.  $S_n = \sum_{k=1}^{n} X_k$  where  $X_i$  are i.d r.V. with  $P(X_1 = 1) = p_n = 1 - P(X_1 = 0).$ Avestion: What happens to Sn as  $n \rightarrow 00?$ We can think of two regimes > Fix probability: pn=p. Then the CLT in HW1 gives  $\frac{S_n - np}{V_{np}(1-p)} \xrightarrow{\omega} N(0, 1).$ Fix the mean:  $np_n = \lambda$ . This models In this case the asymptotic dist D Fix the mean:

is Poisson!

Theorem: Suppose  $S_n \sim Binomial(n, p_n)$ , and  $np_n \rightarrow \lambda \in (0, \infty \text{ as } n \rightarrow \infty \circ$ . Then  $P(S_n = K) \longrightarrow e^{\lambda} \lambda_{K}^{\kappa}$ .  $K! \qquad H$ 

We will use the place holder Porsson(X) to denote this distribution.

We will prove a more general version of this result today. But first let's cover some properties of the poisson dist:

Proposition The Poisson (X) satisfies the following. 1) It's Moment generating func. is  $e^{\chi(e^{z}-1)}$ 2) It's characteristic func. is  $e^{\chi(e^{z}-1)}$ 3) It's mean is  $\lambda$ . 4) It's variance is  $\lambda$ . Consequence sum of Poisson( $\lambda_{1}$ ) Proof: M Poisson( $\lambda_{2}$ ) is Poisson( $\lambda_{1}+\lambda_{2}$ ).

1) By def  

$$M(t) = \mathbb{E}(e^{tX}) = \sum_{\substack{K=0 \ K \neq 0}}^{W} e^{tK} e^{-\lambda} \frac{\lambda^{K}}{K!}$$

$$= e^{-\lambda} \sum_{\substack{K=0 \ K \neq 0}}^{W} \frac{(\lambda e^{t})^{K}}{K!}$$

$$= e^{-\lambda} e^{e^{t\lambda}} = e^{\lambda(e^{t}-1)}$$
2) Follows from  $\Psi(t) = M(it)$ . pm der.  
3) Recall that  $\mathbb{E}(X^{P}) = M^{(P)}(0)$ .  

$$M^{1}(0) = \lambda e^{t} e^{\lambda(e^{t}-1)} |_{0} = \lambda.$$
3) Similar to the above  

$$M^{11}(0) - (M^{1}(0)) = \lambda.$$

Demo.

Law of rare events  
The following is a more general version  
of the theorem regarding Biremials.  
Theorem (XX) For each n, let 
$$X_{n,m}$$
 for each n, let  $X_{n,m}$  for each n

Left as exercise. Lemma If MXV EP(ZXZ) given by  $(m \times v)(\chi, y) = m(\chi) v(y)$ . Then  $\|\mu_1 \times \gamma_1 - \mu_2 \times \gamma_2 \| \le \|\mu_1 - \mu_2 \| + \|\nu_1 - \gamma_2 \|$ Proof: By def  $2\|\mu, x, y, -\mu_2 x y_2\| = \sum_{x,y} |\mu_1(x) y_1(y) - \mu_2(x) v_2(y)$  $\leq \sum_{x,y} |\mu_{1}(x) \gamma_{1}(y) - \mu_{2}(x) \gamma_{1}(y)| \\ + \sum_{x,y} |\mu_{2}(x) \gamma_{1}(y) - \mu_{2}(x) \gamma_{2}(y)|$  $= \sum_{y} V_{1}(y) \sum_{x} |u_{1}(x) - \mu(x)|$ +  $\sum_{x} \mu_2(x) \sum_{y} |V_1(y) - V_2(y)|$  $\leq 2(||_{M_1} - M_2|| + ||_{V_1} - V_2||.$ Lemma If  $\mu * \nu$  denotes the convolution  $\mu * \gamma(x) = \sum_{y} \mu(x - y) \gamma(y).$ Then,  $\|\mu_1 * V_1 - \mu_2 * V_2\| \le \|\mu_1 \times V_1 - \mu_2 \times V_2\|$ . Proof :  $2 || \mu_1 * \nu_1 - \mu_2 * \nu_2 || = \sum_{x} |\sum_{y} \mu_1(x - y) \nu_1(y) - \mu_2(x - y) \nu_2(y)$ 

$$\leq \sum_{k=1}^{n} \sum_{k=1}^{n} |\mu_{i}(x - y_{i})\gamma_{i}(y) - \mu_{2}(x - y_{i})\gamma_{2}(y)|$$

$$= 2|i|\mu_{i}xv_{i} - \mu_{2}xv_{2}||. The sound are shifted,
but 22 - y = 22 the product of the product$$

Proof of Theorem 
$$(-x)$$
:  
Let  $\mu_{n,m}$  be the dist of  $\lambda_{n,m}$  an  $\mu_n$  the  
 $d_{15}t$  of  $S_n$ . Let  
 $\gamma_{nm} = Poisson(p_{nm}), \gamma_n = Poisson(\sum_{m=1}^{n} p_{nm})$ 

and 
$$Y = Poisson (\lambda)$$
.  
Since  $Mn = Mni * \dots * Mnn and  $Y_n = Y_{ni} * \dots * Y_{no}$   
He Lemmos above imply  
 $\|Mn - Y_n\| \le \sum_{m=1}^{\infty} \|Mnm - Y_nm\| \le \sum_{m=1}^{\infty} p_{n,m}^2$ .  
This even give to a rate  $\le \max_{n \in O} p_{n,m} \sum_{n \in O} p_{n,m}$ .  
A convergence.  
Moreover, by construction  $Y_n \stackrel{w}{\rightarrow} Y$ .  
Using triangle ineq.  
Lim  $\|Mn - Y\| \le \lim_{n \to 0} \|Mn - Y_n\| + \|Y_n - Y\|$   
 $n \ge 0$ .  
Thus, by the first Lemma,  $Mn \stackrel{w}{\rightarrow} Y$ .  
We can easily generalize this result  
Theorem 20 For each n, let  $X_n, \underset{n \in O}{\in} \mathbb{N}$ .  
 $X_{n,m} = \begin{cases} 1 & \text{with prob } p_{n,m} \\ 0 & \text{with } prob } 1 - p_{n,m} - \varepsilon_{n,m} \\ \ge 2 & \text{with } prob } \varepsilon_{n,m} \end{cases}$$ 

Moreover, suppose that  
1) 
$$\sum_{m=1}^{n} p_{n,m} \rightarrow \lambda \in (0, 00),$$
  
2) max  $p_{n,m} \rightarrow 0$  as  $n \rightarrow \infty$ .  
3)  $\sum_{m=1}^{n} \epsilon_{n,m} \rightarrow 0$  as  $n \rightarrow \infty$ .  
Let  $S_n = \sum_{k=1}^{n} \chi_{nk}, \text{ then},$   
 $S_n \xrightarrow{w} Z$  with  $Z \sim Poisson(\lambda).$   
Proof: Define  $\chi'_{nm} = 1$  if  $\chi_{nm}, \text{ and } 0$   
otherwise. Theorem ( $\overset{\times}{\overset{\times}{\overset{\times}}}$ ) gives that  $S'_n = \sum_{m=1}^{n} \chi_{nm}$   
converges weakly to Z. Moreover  
 $\|\mu_{S_n} - \mu_{S_n}\| = \sum \|\mu_{\chi_{nm}} - \mu_{\chi_{nm}}\|$   
 $\leq Z_1 (1 - \rho_{nm} - (1 - \rho_{nm} - \epsilon_{nm})) + \epsilon_{nm}$   
 $= 2 \sum \epsilon_{nm}.$